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Roll No. .................................

NARAYAN TALENT SEARCH EXAMINATION, 2012-13

Direction :-

1. The question paper has six parts. All questions are to be attempted.

iz'u i= ds N% Hkkx gSA lHkh iz'u vfuok;Z gSaA

2. Four alternative answers are given for each question but only one answer is

correct. Identify and put a Darken for it on the answer sheet. No other mark is

acceptable.

izR;sd iz'u ds pkj fodYi fn;s x;s gSa ijUrq muesa ls dsoy ,d lgh gSA Bhd mÙkj pqudj
mÙkj iqfLrdk esa xksys dks xgjk djsaA vU; dksbZ fpUg u yxk;saA

3. Do not use lead pencil on the answer sheet. Darken with Bal Pen. Over writing

is not accepted.

iSafly dk iz;ksx mÙkj iqfLrdk ij u djsaA cky iSu ls xksys dks xgjk djsaA dkV dj fy[kk x;k

fpUg ekU; ugha gksxkA

MENTAL ABILITY

Directions : In Q. 1-2 Fill in the missing term carefully from the given alternatives.

fjDr LFkku eas iz'uokpd fpUg ds LFkku ij lgh la[;k Hkjsa (1-2)

1 217 (8) 281,  503 (? ) 728

a) 9 b) 15 c) 25 d) 36

2 47, 38, ?, 23, 17, 12, 8

a) 27 b) 34 c) 30 d) 32

Directions : In Q. 3-4 Study the given sequence & fill in the blanks missing letters from given

choices.

uhps nh xbZ Js.kh eas fjDr LFkkuksa eas mi;qDr v{kj fn;s x, mÙkjksa eas ls NkaVdj HkjsaA (3-4)

3 b a ........ b........ a a b b ........a ...... ......... a........b b

a) ab ab ab b) ab ab ba c) bb aa bb d) ba ba ba

4 bbc ....... b......... cabb .......a...........bca

a) bcab b) acbb c) abcb d) cabb

Time 3 Hrs. M.M. 200CLASS - IX
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(For Q.5-8) Study the given figure and answer the question based on it

nh xbZ vkd`fr dk v/;u djds mrj nsa A (5-8)

In figure rectangle is wheat, square is for gram,

circle is for maize & traingle for rice.

fp= eas vk;r xsagw dks] oxZ pus dks] o`r eDdk dks rFkk
f=Hk qt pkoy ds mRikfnr {ks= dks izdV djrk gSA

5 In which axeg all four are cultivated.

fdl {ks= eas pkjksa mRikfnr gksrs gSaA
a) 7 b) 8 c) 9 d) 2

6 In which area only wheat and maize are cultivated

fdl {ks= eas dsoy xsgw¡ o eDdk mRikfnr dh tkrh gS
a) 8 b) 6 c) 5 d) 4

7 In which area only rice is cultivated

fdl {ks= eas dsoy pkoy mxk;k tkrk gS
a)  5 b) 2 c) 1 d) 6

8 In which area only rice & maize is cultivated

fdl {ks= eas dsoy pkoy o eDdk mxk;k tkrk gS
a)  9 b) 8 c) 2 d) 7

For Q.9 to 11 study the figure & fill in the proper no. at ?

iz09 ls 11 eas vkd`fr eas la[;k dk Øe ns[kdj
fjDr LFkku (?) eas lgh la[;k HkjsaA

9 a)   31 b) 32

c) 30 d) 34

10 a)   20 b) 21

c) 22 d) 23

11

a)  88 b) 92 c) gold d) 94

6

0

10

115

3

?
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12 A man has his wife, four married sons each having 2 children. How many members are in

that family

,d ifjokj eas ,d iq:"k] mldh iRuh rFkk pkj fookfgr iq= ftuesa izR;sd ds nks cPps gSa A ifjokj

eas dqy fdrus lnL; gSaA

a)   16 b) 17 c) 18 d) 20

13 A doctor gave 6 tablets to a patient & advise him to take 1 tablet after every 2 hours. Patient

takes 1st tablet at 10 a.m. when will he take 6th tablet.

,d MkDVj us ,d ejht dks 6 xksyh izR;sd 2 ?k.Vs ckn ysus dks dgkA ejht us igyh xksyh 10

cts izkr% yh rks mlus vfUre NBh xksyh dc yhA

a) 8.00 p.m. b) 10 p.m. c) 6.00 p.m. d) 10.00 p.m.

14 Yogesh has 16th Place in a line from both side. How many students are in that line.

,d d{kk dh iafDr eas ;ksxs'k dk nksuksa vksj ls 16oka LFkku gSA d{kk eas dqy fdrus Nk= gSa

a) 32 b) 33 c) 31 d) 30

Q.15 to 17 are based on codes. If codes for DELHI = 451289 then find codes for Q-15 to 17.

iz015 ls 17 ,d dksM ij vk/kkfjr gS ;fn DELHI=451289 gks rks uhps fn;s x,
15&17 dk lgh dksM fy[ksaaA

15 ROHTAK

a) 1815820111 b) 1815840111 c) 1815850111 d) 1815830112

16 GURGAON

a) 72187115114 b) 7218711514 c) 72118711514 d) 7211871514

17 AMBALA

a) 11321211 b) 11321121 c) 11321112 d) None

For Q.18-20 study the given pattern & fill the correct choice in place of ?

iz05 18&20 eas la[;k Øe dk v/;;u djds fjDr iz'uokpd fpUg eas lgh mrj HkjsaA
18 64=6, 54=2, 75=8, 84=?

a) 6 b) 4 c) 5 d) 7

19 318=8, 428=9, 545=?, 666=?

a) 15 b) 14 c) 13 d) 11
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20 201=5, 42=10, 84=20, 106=?

a) 24 b) 26 c) 80 d) None

21 A men goes to a city at 3km/h speed & comes back at 6km/h speed. Find his average speed.

,d O;fDr fdlh 'kgj rd 31 fdeh izfr ?k.Vk dh pky ls tkrk gS rFkk 6 fdeh ?kaVk dh

pky ls okil vkrk gSA mldh vkSlr pky D;k gSA

a) 4.5 km/hr b) 4km/hr c) 5km/hr d) None of the above

For 22-23 select the odd one out

22&23 eas fHkUu lewg NkVksaA

a) DHG b) CGF c) JNR d) BFE

23 a) AGMS b) BHNT c) GDKN d) CIOU

For Q24-28

Seven books A,B,C,D,E,F, & G. are placed one above other. Such that E is above G but below B.

Book A is above B but below D - Book F is at top & C is below it. Now answer

lkr iqLrdsa A,B,C,E,F, o G bl izdkj j[kh gS fd E iqLrd G ds mij ijUrq B ds uhps gSA

iqLrd A,B ds mij ijUrq D ds uhps gSa] F lcls mij gSA rFkk C blds uhps gSA mijksDr

tkudkjh ls iz'u 23 ls 27 ds mrj nsaA

24 Which book is at the bottom

lcls uhps dkSu lh iqLrd gSA

a) E b) G c) A d) B

25 Which book is in the middle

lcds chp eas dkSu lh iqLrd gSA

a) E b) C c) D d) A

26 Which book is between F & D

F rFkk D ds chp eas dkSu lh iqLrd gS

a) C b) A c) G d) B

27 What is the order of book from D down words.

D ls uhps iqLrdksa dk Øe D;k gSA

a) DABGF b) DABEG c) DEBGE d) DAGBE
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28-32 are based on the figure that can be folded into a cube.

iz0 28&32 ,d vkd`fr ij vk/kkfjr gS ftls ?ku ds :i eas eksM+k tk ldrk gSA

28 What is opposite face of 2.

2 ds foijhr dkSu lk vad gS

a) 3 b) 6

c) 5 d) 4

29 What is opposite to 6

a) 3 b) 4 c) 5 d) 2

6 ds foijhr dkSu lk vad gSA

For Q-30-31

30 What is opposite to H

H ds foijhr dkSu lk v{kj gSA

a) P b) G

c) I d) D

31 Which is opposite alphabet to D

D ds foijhr dkSu lk v{kj gSA

a) P b) I

c) H d) E

32 Which letter is on opposite face of R in figure

fp= ls cus ?ku eas R ds foijhr dkSu lk v{kj gSA
a) P b) S

c) A d) Z

33 The day before yesterday was friday. What will be the day after tomorrow.

a) Monday b) Tuesday c) Sunday d) Wednesday

dy ls igyk fnu 'k qØokj Fkk dy ls vxyk fnu D;k gksxk

a)  lkseokj b) eaxyokj c) jfookj d) cq/kokj

34 My mother is the only sister of my maternal uncle what is my relation with the daughter of

husband of my mother's mother.

a) Sister b) Mother c) Mother Sister d) None

esjh ekrk esjs ekek dh bdykSrh cgu gSA esjk esjh eka dh ekrk ds ifr dh iq=h ds lkFk D;k ukrk fj'rk gSA

a) cgu b) ekrk c) ekSlh d) dksbZ ugha

E

H D GP

I

2

1 65

3

4

A

X

R S

ZP
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35 In a line Kamla is at 8th place from left & Indu is 17th from right when they interchange their

position Kamla is 14th from left. How many girls are in the line.

,d iafDr eas deyk dk ck;sa ls 8oka rFkk bUnq dk nk;sa ls 17oka LFkku gSA ;fn os nksuksa ijLij LFkku

cny ysosa rks deyk dk ck;sa ls 14oka LFkku curk gSA iafDr esa dqy fdruh yM+dh;ka gSaA

a) 31 b) 32 c) 30 d) 21

In 36-37 a word is given & words are constructed from that word. See which word can not be

made from the letter of that word.

iz0 36 o 37 eas ,d 'kCn fn;k gSA mlls dqN 'kCn cuk;s x, gSaA fn;s x, 'kCnkss eas ls
og 'kCn NkaVs tks ml 'kCn ls ugha cu ldrkA

36 DISSEMINATION

a) India b) Nations c) Mention d) Action

37 PHARMACEUTICAL

a) Urea b) Metric

c) Practice d) Critical

38 Fill proper no. in place of ? in figure

vkd`fr eas iz'uokpd fpUg ds LFkku
ij lgh vad fy[ksaA
a) 125 b) 216

c) 625 d) 144

39 If you write 1 to 100 then how many times you will write 3.

1 ls 100 rd fxurh fy[kus eas 3 dk vad fdruh ckj fy[kk tk;sxkA

a) 18 b) 19 c) 20 d) 21

40 Select odd one out

csesy fHkUu 'kCn NkaVks
a) Kerala b) Haryana c) Punjab d) Chandigarh

dsjyk gfj;k.kk iatkc p.Mhx<+

8 1

5 3

4 6

9 2

256?

81 16
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MATHS

41. If x=5+ 2  then x
x

2
2

1+  equals ?

;fn x=5+ 2  rc x
x

2
2

1+  dk eku gksxk \

a) 27 b) 54 c) 20 2 d) None of these

  bueas ls dksbZ ugha

42. Let a = 3 ,  b = 93  and c = 1056  then which of the following is true ?

;fn a = 3 , b = 93 , c = 1056  rks fuEufyf[kr eas ls dkSu lk dFku lR; gksxk \

a) a<c<b b) c<b<a c) a<b<c d) b<c<a

43. Express x = 0 47.  in the form of 
p

q  where H.C.F. (p,q) = 1 and q ≠ 0 , p q I, ∈

x = 

0 47.

 dks 
p

q  ds :i eas O;Dr djks tgka H.C.F. (P,Q)=1 vkSj q ≠ 0 , p q I, ∈

a) 

43

990

b) 
43

90
c) 

43

900
d) None of these

44. If a b then= +
−

= −
+

2 1

2 1

2 1

2 1
,  the value of a ab b equals2 2+ + ?

;fn a b= +
−

= −
+

2 1

2 1

2 1

2 1
,  ro a a b b2 2+ +  dk eku gksxk

a) 35 b) 37 c) 35 2 d) 37 2
45. For the given polynomial P(x) = ax3+bx2+cx+d=5x3+4x2-7x+3 which of the following statements

is/are true.

a) The value of a+b+c+d is 5 b) The value P (2) = 45

c) The degree of P(x) is 3 d) The value of C=7

fn;s x, Oa;td P(x) = ax3+bx2+cx+d=5x3+4x2-7x+3 ds fy, fuEufyf[kr eas ls dkSu dkSu ls dFku
lR; gSa \
1) a+b+c+d dk eku 5 gS a2) P (2) dk eku 45 gS a
3) O;atd p(x) dh ?kkr 3 gS a4) C dk eku 7 gS
a) dsoy ¼1½ vkSj ¼2½   b) dsoy ¼2½ vkSj ¼3½   c) ¼1½] ¼2½ vkSj ¼3½     d) dsoy ¼4½

46. If 6x2+5x-25 = (ax+b) (cx+d) then which of the following is true.

a) if a=2, then c=3 b) b & d are of opposite sign  c) if a=3 then b=2 d) all of these

;fn 6x2+5x-25 = (ax+b) (cx+d) gks rc fuEufyf[kr eas ls dkSu lk dFku lR; gSA
a) ;fn a=2 rc c=3 b) b vkSj d=3 foijhr fpUg ds gSa c) ;fn a=3 rc b=2 d) ;s lHkh
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47. By keeping the co-ordinates of points A(2,0) B(0,3) C(-2,0) D(0,-3)

a) On joining ABCD obtained figure is rohombus

b) Area of the obtained figure is 12 unit2

c) Lengths of diagonals BD and AC of the figure are 6 unit and 4 unit respectively.

d) Diagonals of the figure do not bisect each other.

fn, x;s foUnw funsZ'kkadksa A(2,0), B(0,3) C(-2,0), D(0-3) dks /;ku eas j[krs gq, lgh fodYi pqusa fd
fuEufyf[kr eas ls dkSu lk dFku lR; ugha gSA
a) funsZ'kdksa ABCD dks feykus ij izkIr vkd`fr leprqHkZt gSA
b) izkIr vkd`fr dk {ks=Qy 12 oxZ bdkbZ gSA

c) vkd`fr ds fod.kksZa BD vkSj AC dh yEckbZ Øe'k% 6 bZdkbZ vkSj 4 bZdkbZ gSaA
d) vkd`fr ds fod.kZ ,d nwljs dks lef}Hkkftr ugha djrs gSaA

48. For given equation 4x+30=0 which of the following statements are true.

1) The equation represent a point on the number line in one variable to the left of origin.

2) In two variable it represent a line parallel to y axis, lines in the negative direction of x axis.

3) In two variable the equation represent a line parallel to positive direction of x axis.

4) None of these

a) only c b) only a c) only b d) both a and b

lehdj.k 4x+30=0 ds fy, fuEufyf[kr eas ls dkSu lk dFku lR; gSA
1½ lehdj.k ,d pj eas js[kk ij ,d fcUnw dks n'kkZrk gS tks fd 'kwU; ls ckbZ vksj fLFkr gSA
2½ lehdj.k nks pj eas x-v{k dh _.kkRed fn'kk eas y v{k ds lekUrj js[kk dks n'kkZrk gSA
3½ lehdj.k nks pj eas x-v{k dh /kukRed fn'kk eas x v{k ds lekUrj js[kk dks n'kkZrk gSA
4½ bueas ls dksbZ ugha
a) dsoy c b) dsoy a c) dsoy b d)  a vkSj b nksuksa

49. Which of the following is not the solution of the equation x+2y=6

fuEufyf[kr eas ls dkSu lk lehdj.k x+2y=6 dk gy ugha gSA
a) (6,0) b) (0,3) c) (−2, −2) d) (2, 2)

50. The degree of the equation ax+by+c=0 ∀ a,b,c are real numbers such that a,b are not both

zero.

lehdj.k ax+by+c=0 ∀ a,b,c okLrfod la[;k gS tcfd a vkSj b nksuks 'kwU; ugha gS fd ?kkr gksxhA
a) 0 b) 1 c) 2 d) Can not possible

lEHko ugha
51. If 4x0, 300 and 500 formed straight angle then ;fn 4x0, 300 vkSj 500 ,d jSf[kd dks.k cukrs gSa rks

a) x=400 b) x=300 c) x=250 d) None of these

  bueas ls dksbZ ugha
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52. If the figure l||m||n and 

EA AB⊥

 if 

∠ =BEF 650

then which of the following is true ?

fp= eas l||m||n gS] ;fn EA AB⊥  vkSj 

∠ =BEF 650

ro fuEufyf[kr eas ls dkSu lk fodYi lgh gSA

a) x=y b) y=1150

c) z=250 d) All of these

53. If t
1
, t

2
, t

3
.........t

n
 are triangular number such that t

1
+t

2
=4, t

2
+t

3
=9, t

3
+t

4
=16, then which of the

following hold good ?

;fn t
1
, t

2
, t

3
.........t

n
 bl izdkj dh f=Hk qth; la[;k,a gSa fd t

1
+t

2
=4, t

2
+t

3
=9, t

3
+t

4
=16 ro fuEufyf[kr

eas ls dkSu lk dFku ¼datsDpj½ lR;kfir gksxkA

a) t
4
+t

5
=25 b) t

1
+t

4
=11 c) t

n-1
+t

n
=n2 d) t

u
-t

2
=7

a) only a and b b) only a and c c) only c and d d) All

dsoy a vkSj b  dsoy a vkSj c dsoy c vkSj d   lHkh

54. If t
1
=1, t

2
=3, t

3
=6, t

4
=10 are triangular numbers then t

x 
equals

;fn t
1
=1, t

2
=3, t

3
=6, t

4
=10 f=Hk qth; la[;k,a gSa

rc t
1
, t

2
, t

3
, t

4
......... dk datsDpj ¼dFku½ t

x
 gksxk

a) 
x x( )+1

2
b) 

( )( )x x+ +1 2

2
c) 2 1x − d) None of these

  bueas ls dksbZ ugha

55. If 1+2+3+.............. 7+............ 3+2+1 = 49 and 1+2+3+4+ .............. +9+ ..........4+3+2+1=81

Then the value of 1+2+3+4+5+ ........... (x+1) + ........... +5+4+3+2+1 equal

;fn 1+2+3+.............. 7+............ 3+2+1 = 49 and 1+2+3+4+ .............. +9+ ..........4+3+2+1=81

rc 1+2+3+4+5+ ........... (x+1) + ........... +5+4+3+2+1 dk eku gksxk
a) x2 b) (x-1)2 c) (x2+1) + (2x) d) None of these

  bueas ls dksbZ ugha

56. For every line l and for every point p not lying on l, The number of line/lines passing through

P & Parallel to  l is/are

a) Many lines b) Only onle line c) Only two lines d) None of these

izR;sd js[kk l vkSj foUnq P tks l ij fLFkr ugha gS ls js[kk l ds lekUrj js[kk,a [khaph tk ldrh gSaA
a) vusd js[kk,a b) ek= ,d js[kk c) ek= nks js[kk,a d) bueas ls dksbZ ugha

m

C

y
D 650

n

EA

F

B

z

l

x
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57. if P(x) = Kx3-3x2+4 and q(x) = 2x3-5x+K leaves two same remainder when divided by x-2 then k

equals.

;fn P(x) = Kx3-3x2+4 vkSj q(x) = 2x3-5x+K dks x-2 ls Hkkx nsus ij leku 'ks"kQy feyrk gS ro K

dk eku gksxk\

a) 3 b) -3 c) 2 d) -2

58. If (x-a) be the H.C.F. of P(x)=x2+Px+q and R(x) = x2+lx+m then a equals ?

;fn P(x)=x2+Px+q vkSj R(x) = x2+lx+m dk e-l-o- (x-a) gks rks a dk eku gksxk \

a) 
m a

p l

+
− b) 

m q

p l

+
− c) 

m q

p l

−
+ d) None of these

  bueas ls dksbZ ugha

59. A die is rolled up twice and out comes are recorded what will be probability the sum of the

number on dice is divisible by 3 ?

,d ikls dks nks ckj Qsad dj lHkh ifj.kkeksa dks fjdkMZ fd;k x;k iklksa ds vadksa dk ;ksx 3 dk

Hkktd gksus dh D;k izkf;drk gksxh \

a) 
1

9
b) 

1

2
c) 

2

3
d) None of these

  bueas ls dksbZ ugha

60. In a school of 75 teachers 
2

3
 are male the percentage of females are ?

fo|ky; ds 75 f'k{kdksa eas ls nks frgkbZ iq:"k f'k{kd gSa efgyk f'k{kdksa dks izfr'kr gksxk\

a) Approx 33.33% b) 25% c) Approx 66.66% d) None of these

  yxHkx 33.33%  yxHkx 66.66%   bueas ls dksbZ ugha

61. In the adjoining figure ∠x=520 and ∠xyz=560 Yo and Zo are bisectors of ∠xyz and ∠xzy

respectively then ∠ozx and interior ∠yoz are respectively.

nh xbZ vkd`fr eas ∠x=520 vkSj ∠xyz=560  ;fn Yo vkSj Zo Øe'k% ∠xyz vkSj ∠xzy ds lef}Hkktd

gSa rks ∠ozx rFkk ∠yoz Øe'k% gksxs \

a) 1160 & 360 b) 360 and 1160 c) 720 and 1080 d) None of these

 bueas ls dksbZ ugha

62. In a triangle ∆ABC which of the following is not true.

a) circumcentre is equidistant b) In centre is equidistant from all its sides

c) sum of any two sides of a triangle is less than its third side

d) If AB=AC than ∠B=∠C
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f=Hk qt ABC ds fy, fuEufyf[kr eas ls dkSu lk dFku lR; ugha gS \
a) ifjdsUnz 'kh"kZ fcUnqvksa ls leku nwjh ij fLFkr gksrk gS A
b) vUr% dsUnz f=Hk qt dh Hk qtkvksa ls leku nwjh ij fLFkr gksrk gS \
c) f=Hk qt dh fdUgha nks Hk qtkvksa dk ;ksx rhljh Hk qtk ls de gksrk gS
d) ;fn AB=AC rc ∠B=∠C

63. The measurement of least angle of a triangle if angles are (x-400), (x-300), 
x

2
100+FHG
I
KJ  is ?

;fn (x-400), (x-300), 
x

2
100+FHG
I
KJ f=Hk qt ds dks.k gSa rc U;wure dks.k dh eki gksxh \

a) 960 b) 660 c) 580 d) None of these

 bueas ls dksbZ ugha

64. The area of a right angle triangle, the radius of whose circumcircle vs 3cm and the length of

two altitude drawn from the opposite vertex to the hypotenuse is 2cm is?

,d ledks.k f=Hk qt ftldh ifjo`r dh f=T;k 3 lseh gS dk {ks=Qy D;k gksxk \ ;fn fod.kZ ds
foijhr 'kh"kZ ls fod.kZ ij Mkys x;s yEc dh yEckbZ 2 lseh gS A
a) 12cm2 b) 6cm2 c) 3cm2 d) None of these

bueas ls dksbZ ugha

65. Every side of a triangle be doubled then ratio of the original areas to increased area of the

traingle is.

;fn f=Hk qt dh izR;sd Hk qtk dks nks xquk dj fn;k tk;s rks f=Hk qt ds okLrfod {ks=Qy vksj c<+s gq,
{ks=Qy dk vuqikr gksxk \
a) 1:3 b) 1:4 c) 3:1 d) 4:1

66. The diagonal of a square A is (a+b) the diagonal of square B whose area is twice the area of A

is ?

a) 2 (a+b) b) √2(a+b) c) 2(a+b)2 d) None of these

  bueas ls dksbZ ugha
oxZ A dk fod.kZ (a+b) gS oxZ B dk fod.kZ D;k gksxk ftldk {ks=Qy oxZ A ds {ks=Qy dk nqxuk
gS\

67. From a rectangular sheet ABCD in which AB=40cm, AD=20cm. The area of the semi circular

region is cut off with BC as diameter is ?

vk;krdkj pknj ls Hkqtk BC dks O;kl ekudj fudkys x;s v/kZo`r dk {ks=Qy gksxk\
a) 308 cm2 b) 1120 cm2 c) 812 cm2 d) None of these

 bueas ls dksbZ ugha
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68. If ν and $ are the volume and surface area of a cuboid respectively whose dimensions are

a,b,c then 
1

ν
equals ?

;fn a,b,c foekvksa okys /kukHk dk vk;ru vkSj i`"Bh; {ks=Qy Øe'k% ν rc $ gSa rc 
1

ν
 leku

gksxk\

a) 
S

a b c2

1 1 1+ +F
HG

I
KJ b) 

2 1 1 1

S ab bc ca
+ +F

HG
I
KJ c) 

2 1 1 1

S a b c
+ +F
HG

I
KJ d) None of these

 bueas ls dksbZ ugha

69. The dimension of a metalic cuboid 100cmx80mx64m it is melted and recast into a cube. The

surface area of the cube be ?

foekvksa 100 ls-eh- x 80 ls-eh- x 64 ls-eh- ds ?kuko dks fi?kykdj cuk, x, ?ku dk i`"Bh;
{ks=Qy gksxk \
a) 384x102cm2 b) 384x103cm2 c) 192x102cm2 d) None of these

 bueas ls dksbZ ugha

70. The height and the slant height of a cone are 21cm and 28cm respectively the volume of the

cone ?

a) 11x(√7)4cm3 b) 22(√7)3cm3 c) 22x(√7)4cm3 d) None of these

 bueas ls dksbZ ugha
fdlh 'kadq dh ÅapkbZ vkSj fr;Zd ÅapkbZ Øe'k% 21 lseh vkSj 28 lseh gS bldk vk;ru gksxk \

71. If the mean of the datas is 25 then K equals

Hi                   5           15                          25                    35               45

fi                     3           K                            3                      6               2

mijfyf[kr vkadM+ksa dk ek/; 25 gS rc K dk eku gksxk \
a) 3 b) 4 c) 5 d) None of these

 bueas ls dksbZ ugha

72. Which of the following is not true :

a) Class mark =  
upper limit lower limit

2

+

oxZ fpUg
mifj lhek  fuEu lhek+

2

b) Mean, Median and Mode are the measures of central tendency.

ek/;] ekf/;dk vkSj cgqyd dsUnzh; izo`fr ds ekid gSaA
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c) Range is the difference of the value of greatest and lowest observation

vkadM+ksa dk vf/kdre vkSj U;wure ekuksa dk vUrj ifjlj gksrk gS \

d) Mean value of the first n natural numbers = 
n n( )+1

2

izFke n izkd`r la[;kvksa dk ek/; 
n n( )+1

2
gksxk

73. ∆ ABC is right angle at B,AC=5cm, AB=4cm A circle is drawn with A as its centre and AC as its

radius the length of the chord of this circle through B and C is.

f=Hk qt ABC dks.k ij ledks.k gSA AC=5 lseh] AB=4 lseh gSA A dks dsUnz ekudj AC f=T;k dk o`r

[khapk tkrk gS] bl o`r dh B vkSj C ls xqtjus okyh thok dh yEckbZ gksxh\

a) 3cm b) 4cm c) 5cm d) 6cm

   3 lseh    4 lseh    5 lseh    6 lseh

74. If two diameters of a circle intersect at right angle, then quadrilateral formed by joining their

end points is a

a) Rhombus ¼leprqHkq Zt½¼leprqHkq Zt½¼leprqHkq Zt½¼leprqHkq Zt½¼leprqHkq Zt½ b) Rectangle ¼vk;r½¼vk;r½¼vk;r½¼vk;r½¼vk;r½

c) Parallelogram ¼ lekUrj prqHkq Zt½¼ lekUrj prqHkq Zt½¼ lekUrj prqHkq Zt½¼ lekUrj prqHkq Zt½¼ lekUrj prqHkq Zt½ d) Square ¼oxZ½¼oxZ½¼oxZ½¼oxZ½¼oxZ½

;fn fdlh o`r ds nks O;kl ,d nwljs dks ledks.k ij izfrPNsfnr djrs gSa rks O;kl ds vfUre fcUnqvksa

ls izkIr lery gksxkA

75. Which of the following is not true

a) The probability of an impossible event is always 0

b) The probability of sure event is always 1

c) For any event A, P(A) <O or P(A) >1

d) Probability of sample space of an experiment is 1

fuEufyf[kr eas ls dkSu lk dFku lR; ugha gSA

a½ vlEHko ?kVuk dh izkf;drk lnSo 'kwU; gksrh gSA

b½ 'kr izfr'kr ?kVus okyh ?kVuk dh izkf;drk lnSo ,d gksrh gSA

c½ fdlh ?kVuk ds fy, P(A) 'kwU; ls de ;k P(A) 1 ls vf/kd gksrh gSA

d½ ,d iz;ksx ds fy, dh izkf;drk 1 gSA
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76. In ∆ABC, M,N, and P are mid points of AB, AC and BC respectively. If MN=3cm, NP=3.5cm and

MP=2.5cm. Then BC, AB, AC are respectively.

f=Hk qt ABC eas M,N,P Øe'k% Hkqtkvksa AB,AC vkSj BC ds e/; fcUnq gS ;fn MN=3 lseh] NP=3.5

lseh vkSj MP=2.5 lseh gS rc BC, AB vkSj AC Øe'k% gksxh \
a) 6cm, 7cm, 5cm b) 7cm, 6cm, 5cm c) 5cm, 6cm, 7cm d) None of these

bueas ls dksbZ ugha

77. Two parallelograms are on the same base and between the same parallels then ratio of their

area is

,d gh vk/kkj vkSj ,d gh lekUrj js[kkvksa ds chp fLFkr lekUrj prqHk qZtksa ds {ks=Qyksa dk vuqikr
gksxk\
a) 1:2 b) 2:1 c) 1:1 d) 3:1

78. The area of the figures formed by joining the mid points of the adjacent sides of a rhombus

with diagonals 16cm and 12cm is ?

leprqHkZqt ds lkFk okyh Hk qtkvksa ds e/; fcUnqvksa dks feykus ls izkIr vkd`fr dk {ks=Qy D;k
gksxk\ ;fn leprqHk qZt ds fod.kksZa dh yEckbZ Øe'k% 16 lseh vkSj 12 lseh gSA
a) 12cm2 b) 18cm2 c) 96cm2 d) None of these

  12 lseh2     18 lseh2      96 lseh2 bueas ls dksbZ ugha

79. If x>0 then solution of the equation 4|x|+x is ? ;fn _.kkRed gS rks lehdj.k 4|x|+x is dk gy
gksxk\

a) x = −3

5
b) x=1 c) x=-1 d) None of these

 bueas ls dksbZ ugha

80. From a pack of cards a card is drawn randomly the probability of getting a black king or a red

card.

rk'k dh xM~Mh eas ls ,d iÙkk ;k n`{;k fudkyk tkrk gSA dkyk jktk vFkok yky iRrk fudkyus
dh izkf;drk gksxh\

a) 
1

26
b) 

7

13
c) 

1

2
d) None of these

 bueas ls dksbZ ugha
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SOCIAL SCIENCES

81. When Napolean Bonaparte crowned himself as Emperor of France ?

a) 1704 b) 1810 c) 1804 d) 1875

usiksfy;u cksukikVZ us dc [kqn dks Ýkal dk lezkV ?kksf"kr dj fn;k \

a) 1704 b) 1810 c) 1804 d) 1875

82. In 1889 where was Hitler born ?

a) Australia b) Argentina c) Austria d) None of these

1889 eas fgVyj dk tUe dgk¡ gqvk Fkk \

a) vkLVªsfy;k b) vtsZUVhuk c) vkfLVª;k d) bueas ls dksbZ ugha

83. Which period among the following is refered to as 'Reign of Terror'

a) 1593 to 1594 b) 1693 to 1694 c) 1893 to 1894 d) 1793 to 1794

fuEu eas ls fdl dky dks vkard dk ;qx dgk tkrk gS\

a) 1593 to 1594 b) 1693 to 1694 c) 1893 to 1894 d) 1793 to 1794

84. In India the first crickect club was established in ......................

a) Chennai b) Calcutta c) Bombay d) None of these

Hkkjr eas igyk fdØsV Dyc dgka 'kq: gqvk Fkk \

a) psUubZ b) dyDrk c) cEcbZ d) bueas ls dksbZ ugha

85. On which "year and Date" the king of france ordered his army to move in to the city ?

a) 15 July 1889 b) 14 July 1789 c) 26 July 1871 d) 17 July 1780

Ýkal ds jktk us lsuk dks 'kgj eas ?k qlus dk vkns'k dc fn;k \

a) 15 July 1889 b) 14 July 1789 c) 26 July 1871 d) 17 July 1780

86. In which year Hittler becomes the Chancellor of Germany ?

a) 29 January 1932 b) 23 August 1938 c) 13 Sept. 1935 d) 30 Jan. 1933

fgVyj teZuh dk pkalyj dc cuk \

a) 29 January 1932 b) 23 August 1938 c) 13 Sept. 1935 d) 30 Jan. 1933

87. National food for work programme (14 November 2004) launched in how many districts?

a) 120 b) 140 c) 150 d) 170

jk"Vªh; dke ds cnys vukt dk;ZØe ¼14 uoEcj 2004½ fdrus ftyksa eas 'k q# fd;k x;k\

a) 120 b) 140 c) 150 d) 170
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88. Which one of these is demension of food security?

a) Availability of food b) Accessibility c) Affordability d) All of these

fuEu eas ls dkSu ls [kk| lqj{kk ds vk;ke gSaA
a) [kk| miyC/krk b) igq¡p c) lkeF;Z d) lHkh

89. National Rural Empoyment Guarantee (NREGP) was passed in

a) October 2005 b) March 2007 c) September 2005 d) April 2009

jk"Vªh; xzkeh.k jkstxkj xkjaVh vf/kfu;e (NREGP) dc ikfjr fd;k x;k\

a) vDrwcj 2005 b) ekpZ 2007 c) flrEcj 2005 d) vizSy 2009

90. Which capital would you consider the best

a) Land b) Labour c) Physical Capital d) Human Capita

fdl iwath dks vki lcls vPNk ekurs gSa\

a) Hkwfe b) Je c) HkkSfrd iwath d) ekuo iwath

91. Buffer stock is the stock of which food grain mainly

a) Wheat and Pulses b) Rice and Pulses c) Wheat and Rice d) None of these

cQj LVkWd fdrus izdkj ds gksrs gSa \
a) xsgwa vkSj nkysa b) pkoy vkSj nkysa c) xsgwa vkSj pkoy d) bues ls dksbZ ugha

92. How many types of Ration Card is

a) 1 b) 2 c) 3 d) 4

jk'ku dkMZ fdrus izdkj ds gksrs gSa
a) 1 b) 2 c) 3 d) 4

93. The President of the world bank is conventionally nominated by the Finance Minister of

which country ?

a) Britain b) Russia c) France d) America

fo'o cSad ds v/;{k dk euksu;u dgk¡ ds foÙk eU=h djrs gSa \
a) fczVsu b) :l c) Ýakl d) vesfjdk

94. Which of the following does not lead to the spread of democracy ?

a) Struggle by the people b) Invasion by foreign countries

c) End of colonialism d) People's desire for freedom

bueas ls fdlls yksdrU= ds foLrkj eas enn ugha feyrh \
a) yksxksa dk la?k"kZ b) fons'kh 'kklu }kjk vkØe.k

c) mifuos'kokn dk var d) yksxksa dh Lora=rk dh pkg
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95. Which of these is a provision that a democratic constitution does not have ?

a) Powers of the head of the state b) Name of the Head of the state

c) Powers of the Legislature d) Name of the country

yksdrkaf=d lafo/kku eas bueas ls dkSu lk izko/kku ugha jgrk \
a) 'kklu izeq[k ds vf/kdkj b) 'kklu izeq[k dk uke
c) fo/kkf;dk ds vf/kdkj d) ns'k dk uke

96. In Lok Sabha seats reserved for General caste is.

a) 434 b) 423 c) 441 d) 454

yksd lHkk eas lkekU; tkfr ds fy, fdruh vkjf{kr lhVsa gSa \
a) 434 b) 423 c) 441 d) 454

97. Movement called "Nyaya Yudh" was led by which leader in Haryana ?

a) Bansi Lal b) Devi Lal c) Bhajan Lal d) None of these

gfj;k.kk eas U;k; ;q) uked vkUnksyu dk usr`Ro fdl usrk us fd;k \
a) calh yky b) nsoh yky c) Hktu yky  d) bueas ls dksbZ ugha

98. Which of these was the most salient underlying conflict in the making of a democratic con-

stitution in South Africa.

a) Between South Africa and its neighbours b) Between Men and Women

c) Between the white majority and the black minority

d) Between the white minority and the black majority

nf{k.k vÝhdk dk yksdrkaf=d lafo/kku cukus eas buesa ls dkSu lk Vdjko lcls egRoiw.kZ Fkk \
a) nf{k.k vÝhdk vkSj iM+kslh ns'kksa dk b) fL=;ksa vkSj iq#"kksa dk
c) xksjs vYila[;d vkSj v'osr cgqla[;dksa dk
d) jaxhu peM+h okys cgqla[;dksa vkSj v'osr vYila[;dkasa dk

99. Which of these is not a good reason to say that Indian elections are democratic ?

a) India has the largest number of votes in the world

b) India's Election commission is very powerful

c) In India every one above the age of 18 has to right the vote.

d) In India the losing parties accept the electoral verdict

Hkkjr ds pquko yksdrkaf=d gSa] ;g crkus ds fy, buesa l
a) nf{k.k vÝhdk vkSj iM+kslh ns'kksa dk b) fL=;ksa vkSj iq#"kksa dk
c) xksjs vYila[;d vkSj v'osr cgqla[;dksa dk
d) jaxhu peM+h okys cgqla[;dksa vkSj v'osr vYila[;dkasa dk
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100. Who among the following is a part of the political exective ?

a) District collector b) Secretary of the Ministry of Home affairs

c) Home Minister d) Director general of police

fuEufyf[kr eas dkSu jktuSfrd dk;Zikfydk dk fgLlk gksrk gS \

a) ftyk/kh'k b) x`g ea=ky; dk lfpo c) x`g ea=h d) iqfyl egkfuns'kd

101. Which of the following institution can make changes to an existing law of the country ?

a) The supreme court b) The president c) The Prime Minister d) The Parliament

fuEufyf[kr jktuSfrd laLFkk;ksa eas ls dkSu lh laLFkk ns'k ds ekStwnk dkuwu eas la'kks/ku dj ldrh gSA

a) loksZPp U;k;y; b) jk"Vªifr c) iz/kkuea=h d) laln

102. Which of the following  rights is available under the Indian constitution ?

a) Right to work b) Right to adequate live lihood

c) Right to protect one's culture d) None of these

Hkkjr; lafo/kku bueas ls dksu lk vf/kdkj nsrk gS \

a) dke dk vf/kdkj b) i;kZIr thfodk dk vf/kdkj

c)  viuh laLd`fr dh j{kk dk vf/kdkj d) bueas ls dksbZ ugha

103. The constituent assembly adopted constitution on :

a) 26th January 1950 b) 26th November 1949

c) 26th December 1949 d) 26th November 1950

Hkkjrh; laoS/kkfud lHkk us Hkkjrh; lafo/kku dks dc viuk;k \

a) 26 tuojh 1950 b) 26 uoEcj 1949 c) 26 fnlEcj 1949 d) 26 uoEcj 1950

104. Which of the following freedoms is not available to an Indian citizen ?

a) Freedom to criticise the government          b) Freedom to participate in armed revolution

c) Freedom to start a movement to change the government

d) Freedom to oppose the central values of the constitution.

bueas ls dkSu lh LorU=rk Hkkjrh; ukxfjdksa dks ugha gS \

a) ljdkj dh vkykspuk dh LorU=rk b) l'kL= fonzksg eas Hkkx ysus dh LorU=rk

c) ljdkj cnyus ds fy, vkUnksyu 'k q: djus dh LorU=rk

d) lafo/kku ds dsfUnz; ewY;ksa dk fojks/k djus dh LorU=rk
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105. The easternmost longitude of India is

Hkkjr dk lcls iwohZ ns'kkUrj dkSu lk gS \

a) 97025E b) 7706'E c) 6807'E d) 82032'E

106. Which one of the following lakes is a salt water lake

a) Sambhar b) Wular c) Dal d) Gobind Sagar

fuEufyf[kr eas ls dkSu lh yo.kh; tyokyh >hy gS \

a) lkaHkj b) oywj c) My d) xksfoUn lkxj

107. Which one of the following rivers flows through a rift valley ?

a) Damodar b) Krishna c) Tungabhadra d) Tapi

fuEu easa ls dkSu lh unh Hka'k ?kkVh ls gksdj cgrh gS \

a) neksnj b) d`".kk c) rqaxHknzk d) rkih

108. Monsoon arrives in India approximately in

a) Early May b) Early June c) Early July d) Early August

Hkkjr eas ekulwu dk vkxeu fuEufyf[kr eas ls dc gksrk gS \

a) ebZ ds izkjEHk eas b) twu ds izkjEHk eas c) tqykbZ ds izkjEHk eas d) vxLr ds izkjEHk eas

109. Cinchona trees are found in the areas of rainfall more than

fludksuk ds o`{k fdruh o"kkZ okys {ks=ksa eas ik, tkrk gS \

a) 100cm b) 70cm c) 50cm d) less than 50cm

50 lseh ls de

110. In which of the following state is the simplipal bio-reserve located ?

a) Punjab b) Delhi c) Orissa d) West Bengal

fleyhiky tho e.My fup; dkSu ls jkT; eas fLFkr gS \

a) iatkc b) fnYyh c) mMhlk d) if'pe caxky

111. A large proportion of children in a populations is a result of

a) High birth rates b) high death rates

c) high life expectancies d) More married couples

tula[;k eas cPpksa dk ,d cgqr cM+k vuqikr fuEufyf[kr esa ls fdldk ifj.kke gS %

a) mPp tUe nj b) mPp e`R;q nj c) mPp thou nj d) vf/kd fookfgr tksM+s
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112. The river Narmada has its source at

a) Satpura b) Amarkantak c) Brahmagiri       d) Slopes of Western Ghats

ueZnk unh dk mn~xe dgk¡ ls gS \
a) lriwM+k b) vejdaVd c) czãkfxjh d) if'peh ?kkV ds <ky

113. A land mass bounded by sea on three sides is referred as :

a) Coast b) Peninsula c) Island d) None of these

,d LFkyh; Hkkx tks rhu vksj ls leqnz ls f?kjk gks %
a) rV b) izk;}hi c) }hi d) bueas ls dksbZ ugha

114. My friend hails from a country which does not share land boundry with India. Identify the

country.

a) Bhutan b) Bangladesh c) Jajikistan d) Nepal

esjs fe= ,sls ns'k ds fuoklh gSa ftl ns'k dh lhek Hkkjr ds lkFk ugha yxrh gSA vki crkb, og dkSu
lk ns'k gS\

a) HkwVku b) cakXykns'k c) rkftfdLrku d) usiky

115. The tropic of cancer does not pass through

a) Rajasthan b) Chhattisgarh c) Orissa d) Tripura

ddZ js[kk fdl jkT; ls ugha xqtjrh gS \
a) jktLFkku b) Nrhlx<+ c)  mM+hlk d) f=iqjk

116. The highest peak in the Eastern Ghats is :

a) Anai Mudi b) Mahendra Giri c) Kanchanjunga d) Khasi

iwohZ ?kkV dk loksZPp f'k[kj %

a) vukbZeqMh b) egsUnzfxfj c)  daputaxk d) [kklh

117. Which one of the following describes the drainage patterns resembling the branches of a

tree :

a) Radial b) Dendrite c) Centrifugal d) Trellis

fuEufyf[kr eas ls dkSu lk o`{k dh 'kk[kkvksa ds leku viokg izfr:i iz.kkyh dks n'kkZrk gS \
a) vjh; b) nzqekd`frd c) dsanzk fHkeq[k d) tkyh uqek

118. The wind blowing in the northern plains in summer known as :

a) Kaal Baisakhi b) Loo c) Trade Winds d) None of the above

xzh"e _rq eas mÙkjh eSnkuksa eas cgus okyh iou dks fuEufyf[kr eas ls D;k dgk tkrk gS\

a) dky oS'kk[kh b) yw c) O;kikfjd iousa d) bueas ls dksbZ ugha
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119. To which one of the following types of vegetation does rubber belong to ?

a) Tundra b) Jidal c) Himalayan d) Tropical evergreen

jcM+ dk lEcU/k fdl izdkj dh ouLifr ls gS \

a) VqaMªk b) eSaxzkso c) fgeky; d) m".k dfVcU/kh; o"kkZ ou

120. According to the Census 2001, a literate person is one who :

a) can read the write his/her name

b) can read the write any language

c) 7 years old and can read and write any language with understanding

d) 3 'R's (reading, writing and airthmetic)

2001 dh tux.kuk ds vuqlkj ,d ßlk{kjÞ O;fDr og gS %

a) tks vius uke dks i<+ ,oe~ fy[k ldrk gSA

b) tks fdlh Hkh Hkk"kk eas i<+ ,oe~ fy[k ldrk gSA

c) mez 7 o"kZ gS rFkk og fdlh Hkh Hkk"kk dks le> ds lkFk i<+ ,oe~ fy[k ldrk gSA

d) 3 R ¼iM+uk] fy[kuk] cht xf.kr½
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SCIENCE

121. 1000C is equal to ...............

1000 fMxzh lsfYl;l cjkcj gS\

a) 100 K b) 173 K c) 273 K d) 373 K

122. The melting point of ice is ..........

cQZ dk fi?kyko ntkZ ¼xyukad½ gSSA

a) 273.16K b) 373.16K c) 173.16K d) 73.16K

123. Tyndall effect was first discovered by.

a) Faraday b) Tyndall c) Robert Brown d) Morgan

fVaMy izHkko loZizFke ftl us [kkstk -------

a) QSjkMs b) fVaMy c) jkcZV czkmu d) eksjxu

124. 573 K is equal to .............

573 K cjkcj gS

a) 3000C b) 4000C c) 5000C d)  3500C

125. Valency of carbon in ccl
4
 is .................

ccl
4
 eas dkcZu dh la;kstdrk gS ----------------

a) 1 b) 2 c) 4 d) 5

126. Molecular mass of H
2
SO

4
 is ................

H
2
SO

4
 dk vf.od nzO;eku gS -----------------

a) 98 b) 198 c) 980 d) 9.8

127. The number of atoms in 32g of sulphur is ...................

32 xzke lYQj eas ijek.kqvksa dh la[;k gS ---------------

a) 6.022x1025 atoms b) 6.022x10-23 atoms

     6.022x1025 ijek.k q   6.022x10-23 ijek.k q

128. Who discovered neutron..............

a) Goldstein b) Chadwick c) Faraday d) Robert Hooke

U;wVªku dh [kkst fdlus dh

a) xksYMLVhu b) pSMfod c) QSjkMs d) jkcVZ gqd
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129. Among these which one is neutral

a) Electron b) Proton c) Neutron d) All

bueas ls dkSu mnklhu gS----------A
a) bySDVªku b) izksVkWu c) U;wVªku d) lHkh

130. The valency of He atom is...............

He ijek.k q dh la;kstdrk gS -------------------

a) 0 b) 1 c) 3 d) 5

131. Who discovered Proton.

a) Bohr b) Chadwick c) Thomson d) Goldstein

izksVkWu dh [kkst fdl us dh
a) cksgj b) pSMfod c) Fkkselu d) xksYMLVhu

132. The number of valence electrons in Cl ion are.....

DyksjkbM vk;u eas la;kstdrk bySDVªkuksa dh la[;k gksxh ------------------

a) 7 b) 17 c) 10 d)8

133. Who discovered nucleus in the cell ?

a) Robert Hooke b) Robert Brown c) Purkinye d) None

dksf'kdk eas dsUnzd dh [kkst fdl us dh----
a) jkcZV gqd b) jkcZV czkÅu c) iqjfdat d) dksbZ ugha

134. Name the protein factory of the cell.

a) Lysosome b) Ribosome c) Vacuole d) Nucleus

dksf'kdk dh izksVhu QSDVªh fdls dgrs gSa \

a) ykblkslkse b) jkbckslkse c) fjfDrdk d) dsUnzd

135. Which one has no membrane....

a) Nucleus b) Mitochondria c) Riboseme d) All

fdl dh f>Yyh ugha gksrh
a) dsUnzd b) ekbVksdkWufMª;k c) jkbckslkse d) lHkh

136. Which one is not a connective tissue

a) Blood b) Bone c) Neuron d) All

buesa ls dkSu lk ;ksthmRkd ugha gS
a) jDr b) gMM~h c) rfU=dk d) lHkh
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137. Name the tissue present in skin.

a) Epithelial b) Connective c) Muscular d) All

Ropk ¼peM+h½ eas mifLFkr Ård dk uke crkvks
a) ,fifFkfy;y b) ;ksth c) ekalis'kh; d) lHkh

138. Select the simple permanet tissue

a) Parenchyma b) Collenchyma c) Sclerenchyma d) All

lk/kkj.k LFkk;h Ård dks pquks
a) isfjudkbek b) dksysudkbek c) ldysfjudkbek d) lHkh

139. Which one is the component of Phloem ?

a) xylem Parenchyma b) Xylem Fibre c) Vessels d) None

Qyks,e dk ?kVd dkSu lk gS \
a) tkbye isfjudkbek b) tkbye Qkbcj c) oslyl d) dksbZ ugha

140. Who is known as 'Father of biology'.

a) Linnaeus b) Darwin c) Aristotle d) Plato

thofoKku dk tud@firk fdls tkuk tkrk gS
a) fyfu;l b) Mkjfou c) vjLrw d) IysVks

141. Select your Genus in Classification

a) Rana b) Homo c) Ratus d) Ficus

oxhZdj.k eas vki viuk thul~ pqfu,
a) jkuk b) gkseks c) jsV~l d) Qkbdl

142. Amphibians of the plant kingdom are in

a) Thalophyta b) Pteridophyta c) Bryophyta d) All

ikS/kk oxZ eas mHk~epj ds uke ls fdls tkuk tkrk gS\
a) FkSyksQkbVk b) VsfjMksQkbV c) czk;ksQkbVk d) lHkh

143. Which is related with mollusca?

a) Chiton b) Octopus c) Unio d) All

eksyLdk ls dkSu tqM+k gS \
a) fpVksu b) vksDVksil c) ;wfuvks d) lHkh

144. Which one is related with Amphibia.

a) Fish b) Chameleon c) Toad d) Lizard

mH;pj ls dkSu lEcfU/kr gSA
a) eNyh b) fxjfxV c) VksM d) fNidyh
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145. Four chambered heart is found in

a) Toad b) Frog c) Anabas d) Rat

pkj dks"B okyk ân; ik;k tkrk gSA
a) VksM b) esa<d c) ,ukcsl d) pwgk

146. Speed multiplied with time gives....

a) Distance travelled b) Acceleration c) Circular motion d) All

LihM le; ls xq.kk djus ij izkIr gksxk A
a) r; nwjh b) Roj.k~ c) ?k q.kZu xfr d) lHkh

147. A car decreases its speed from 80 kmh-1 to 60kmh-1 in 5s. Find the acceleration of the car.

,d dkj dh LihM 5 lSafdM ckn 80 km/h ls ?kV dj 60 km/h jg tkrh gSA
a) -1.1ms-1 b) 10 ms-1 c) 5 ms-1 d) 50 ms-1

148. With which Law of motion is Galileo associated.

a) Newton's first law of motion b) Newton's second law of motion

c) Third law of motion d) All

U;wVu dk xfr dk igyk fu;e
a) U;wVu dk xfr dk igyk fu;e b) U;wVu dk xfr dk nwljk fu;e
c) U;wVu dk xfr dk rhljk fu;e d) lHkh

149. What is the momentum of an object of mass m, moving with a velocity v ?

ftl dh lagfr m gS v osx ls xfreku gS ml dk laosx D;k gksxk \
a) (mv-)2 b) mv c) 

1

2
mv2 d) 

1

2
 mv2

150. SI unit of force is .................

a) Kg/Wt b) Dune c) Newton d) Joule

cy dk SI ek=d gSA
a) Kg/Wt b) Mkbu c) U;wVu d) twy

151. SI unit of energy is ..................

a) Joule b) Newton c) Force d) KW

ÅtkZ dk SI ek=d gS ---------
a) twy b) U;wVu c) cy d) fdyksokV

152. One horse power is equal to .............. watt.

a) 716 watt b) 746 watt c) 756 watt d) 786 watt

,d v'o 'kfDr fdrus okV ds cjkcj gS----------
a) 716 okV b) 746 okV c) 756 okV d) 786 okV
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153. Smallest bone is present in which part of our ear.

a) Outer b) Middle c) Internal d) All

gekjs dku ds fdl Hkkx eas lcls NksVh gMM~h ikbZ tkrh gS\
a) ckgjh b) e/; c) vkUrfjd d) lHkh

154. HIV stands for ............

a) Virus b) Bacteria c) Fungi d) Amoeba

HIV n'kkZrk gS
a) fo"kk.k qqq b) thok.k q c) QQawn d) vehck

155. Penicillin was discovered by .........

a) Dr. Floray b) Hooke c) Alexander Flemming d) Edward Jenner

isuhflyhu dh [kkst dh Fkh ---------------
a) Mk0 Qyksjs b) gqd c) vysDtsMj QySfeax d) ,MokMZ tsuj

156. At moon temperature ranges from -1900C to 1100C due to lack of .............

a) Atmosphere b) Lithosphere c) Hydrosphere d) None

D;k u gksus ds dkj.k pUnzek ij rkieku &1900C ls 1100C gS \
a) ok;qe.My b) LFkye.My c) tye.My d) dksbZ ugha

157. Name of the gas responsbile for Green house effect

gfjr x`g izHkko ds fy, mÙkjnk;h xSl dk uke crkvks \
a) O

2
b) N

2
c) H

2
d) CO

2

158. Apiculture is .................

a) Gardening b) Cattle farming c) Bee keeping d) Fish farming

,ihdYpj ¼ekSuikyu½ gS
a) ckxokuh b) i'k qikyu c) e/k qeD[kh ikyu d) eNyh ikyu

159. Red Sindhi is a breed of .........

a) Indigenons goat b) Exotic cow c) Exotic buffalo d) Indigenous cow

yky flaf/k fdLe gS-----------------
a) Lons'kh cdjh b) fons'kh xk; c) fons'kh HkSal d) Lons'kh xk;

160. Silver revolution is related with ................

a) Fish farming b) Milk production c) Bee keeping d) Egg Production

flYoj ØkfUr fdl ls lEcfU/kr gS ---------------
a) eNyh ikyu b) nqX/k mRiknu c) e/k qeD[kh ikyu d) v.Ms mRiknu
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ENGLISH

Read the passage given below and answer the questions that follow :

Games and sports should be an essential part of our school curriculum. Unfortunately,

the emphasis in our schools and colleges has been, by and large, on academics alone.

Most adiminstrators and academicians think that games and sports should be meant for

those who hae an aptitude for these. For that matter, academic learning should also be

limited to those who have the capacity to learn. We know this logic does not hold good.

Again, some people feel that games and sports hamper academic performance. Those

who think on these lines, perhaps, equate the pursuit of games and sports with achieving

proficiency and excellence. This is not the truth, of course. The purpose is to keep you

physically fit and mentally alert. We should not, therefore, under estimate, the value of

sports and games in the larger interests of our national growth.

161. Which of the following statement is true ?

a. The emphasis in our schools has been solely on academics

b. The emphasis has been both on academics and sports

c. Sports are given their fair share of importance

d. The emphasis on sports has been much less than that on academics

162. Schools give greater importance to academics they think

a. Sports are meant for those who have an aptiude for them

b. Academic learning is for those who have the capacity to learn

c. Sports are of no use in developing our minds

d. The schools are meant for academic learning and not games and sports

163. Games are important for students because

a. They help them in sharpening their minds

b. They help them in achieving proficiency and excellence

c. They advance their career prospects

d. They develop an individual's overall personality

164. Mark the word opposite in meaning to 'hamper'

a. allow b. assist c. accelerate d. block
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165. Pick out the correctly spelt word.

a. accommodation b. acommodation c. acommodation d. accommdation

166. Choose the right alternative to complete the sentence :

Only ................ people attended the meeting

a. few b. a few c. the few d. very few

167. Mark the sentence which is correctly punctuated :

a. A light blue dress will look beautiful on you

b. A light blue dress will look beautiful on you

c. A light blue dress will look beautiful on you

d. A lightblue dress will look beautiful on you

168. Choose the correct prepositions to fill the blanks :

Will you be .......... home around 7 ? No, I will be ................. the office.

a. at, in b. in, at c. in, in d. at, at

169. Mark the grammatically correct sentence :

a. She is having a big bank balance

b. She have had a big bank balance

c. She has a big bank balance

d. She had had a big bank balance

170. Identify the most appropriate tag-question :

a. You are coming tomorrow, aren't you ?

b. You are coming tomorrow, are you ?

c. You are coming tomorrow, isn't it ?

d. Are you coming tomorrow, right ?

171. Choose the correct pair of expression to fill the blanks :

Some of ................ had to be taken to .....................

a. the injured, the hospital b. injured, hospital

c. injured, the hospital d. the injured, hospital
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172. Choose the correct pair of expression to fill the blanks :

Aditya and Usha were both invited to the function. The ................ reached on time. The

former came in too, but a little ...................

a. later, latter b. latter, later c. later, later d. latter, latter

173. Given below is a sentence in Direct Speech. From the four sentences that follow, choose

the one that best expresses its meaning in Indirect form of speech.

The teacher said to me, "Why are you late"?

a. The teacher told me that why I was late.

b. The teacher asked me that why was I late.

c. The teacher said to me why was I late.

d. The teacher asked me why I was late.

174. Mark the correct passive form of

Everyone rejected the bold idea.

a. The bold idea was rejected by everyone.

b. The bold idea by everyone was rejected.

c. The bold idea had been rejected by everyone.

d. Everyone had been rejected the bold idea.

175. Tick of the correct alternative to complete the sentence :

We invited both the Prime Minister and the President ..................... of them came.

a. none b. no one c. neither d. nobody
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fgUnh

fuEufyf[kr dkO;ka'k dks i<+dj iz'uksa ds fy, lgh fodYi pqudj fyf[k,A
fueZy rsjk uhj ve`r ds le mÙke gS
'khry ean lqxa/k iou gj ysrk Je gS
"kV~_rqvksa dk fofo/k n`'; ;qr vn~Hkqr Øe gS
gfj;kyh dk Q'kZ ugha] e[key ls de gS]
'kqfp&lq/kk lhaprk jkr eas] rq> ij panzizdk'k gS
gs ekr`Hkwfe! fnu eas rjf.k] djrk re dk uk'k gS]
ftl i`Foh eas feys gekjs iwoZt I;kjs]
mlls gs Hkxoku! dHkh ge jgsa u U;kjs]
yksV yksV dj ogha ân; dks 'kkar djsaxs]
mleas feyrs le; e`R;q ls ugha Mjsaxs]
ml ekr`Hkwfe dh /kwy eas] tc iwjs lu tk,axs]
gksdj Hko ca/ku eqDr ge] vkRe:i cu tk,axsA

176 ;gk¡ ds iou dh D;k fo'ks"krk crkbZ xbZ gSA
d½ 'khry [k½ lqaxf/kr x½ Fkdku gjus okyk ?k½ mi;qDr lHkh

177 dfo vius ân; dks dSls 'kkafr iznku djuk pkgrk gS \
d½ ufn;ksa eas ugkdj [k½ lqanj n`'; ns[kdj
x½ feV~Vh eas yksV yksVdj ?k½ izd`fr ds chp jg dj

178 ;gk¡ fdruh _rq,¡ ikbZ tkrh gSa \
d½ nks  [k½ pkj x½ vkB ?k½ N%

179 rjf.k 'kCn dk i;k;Zokph gS\
d½ unh [k½ lw;Z x½ ;qofr ?k½ pUnzek

180 'kqfp 'kCn dk vFkZ gS -------------- A
d½ efyu [k½ feykoV jfgr x½ ifo= ?k½ vifo=

181 lgh fodYi pqusa
tks nwljksa dh enn djrs gSa] izHkq muls izlUu jgrs gSaA ¼jpuk ds vk/kkj ij
okD; Hksn crkb,½
d½ ljy okD; [k½ la;qDr okD; x½ fe= okD; ?k½ bueas ls dksbZ ugha
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182 mi;qDr lekl dk uke fyf[k,
;Fkk'kfDr
d½ vO;;hHkko [k½ }a} x½ f}xq ?k½ deZ/kkj;

183 o.kZ&foPNsn ds fy, mfpr 'kCn pqfu,
l~$vk$i~$r~$vk$g~$b$d~$v
d½ lIrkfgd [k½ lkIrkfgd x½ lIrkghd ?k½ lkirkfgd

184 ^eqgkojs* dk lgh vFkZ pqfu,
dybZ [kqyuk
d½ ikfy'k mrjuk [k½ Hksn [kqyuk
x½ dykbZ VwVuk ?k½ bueas ls dksbZ ugha

185 vkS|ksfxd eas fuEufyf[kr eas ls dkSu lk izR;; iz;qDr gS\
d½ bd [k½ ;ksfxd x½ fxd ?k½ vkSfxd

186 mi;qZDr laf/k foPNsn dkSu lk gS \
mPpkj.k
d½ mr~$pkj.k [k½ mPp$vj.k x½ mPpk$j.k ?k½ mPpk$vkj.k

187 inca/k dk uke fodYi ls pqudj fyf[k,
Hkkxrs gq, pksjksa eas dqN idM+s x,A
d½ laKk in~ca/k [k½ loZuke in~ca/k x½ fo'ks"k.k in~ca/k ?k½ fØ;k inca/k

188 bl le; fpfM+;k ?kksalys eas ugha gSA okD; fdl Hksn ls lacf/kr gSA
d½ fu"ks/kkRed okD; [k½ lansgokpd okD;
x½ bPNklwpd okD; ?k½ foLe;kfncks/kd okD;

189 fo|kFkhZ lekpkj i= i<+rs gSaA okD; eas fØ;k dk Hksn crkb,A
d½ vdeZd [k½ fn`deZd x½ ldeZd ?k½ bueas ls dksbZ ugha

190 vk'p;Z izdV djus okys okD;ksa eas -------------- dk iz;ksx djrs gSaA
d½ v}Zfojke [k½ dks"Bd x½ fooj.k fpUg ?k½ foLe;okpd fpUg
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laLd`r

191 ^fo$yqd$Y;i~^ izd`fr izR;; dk mfpr ;ksx gSA
d½ foyqIr [k½ foyksd x½ foykse ?k½ foyksD;

192 ^pksjf;rqe* eas mfpr d`nUr izR;; gSA
d½ rqequ~ [k½ rqe~ x½ brqe~ ?k½ re~

193 ^izHkklq* eas mfpr foHkfDr ,oa opu gS
d½ izFkek] cgqopu [k½ lIreh] cgqopu
x½ iapeh] ,dopu ?k½ "k"Bh] f}opu

194 ^Hkoku~ dq= xfe";fl* dk 'kq} :i gS
d½ Hkoku~ dq= xfe";fr [k½ Hkokudq= xfe";Fk%
x½ Hkokudq= xfe";fUr ?k½ Hkoku~ dq= xfe";kfe

195 f'koa ue% dk 'kq} okD; gSA
d½ f'kokr~ ue% [k½ f'koL; uekfe x½ f'kok; ue% ?k½ f'kokS ue%

196 iz"Vqe~ eas /kkrq vkSj izR;; gSA
d½ i`PN$rqe~ [k½ izPN$rqequ~ x½ iz"V$e ?k½ i`PN$Dr

197 ^firk iq=s fLug;fr^ bl okD; eas foHkfDr iz;qDr gSA
d½ r`rh;k [k½ i´peh x½ lIreh ?k½ prqFkhZ

198 ^r:.k* 'kCn dk mfpr vFkZ gSA
d½ eksVk [k½ ruk x½ cw<+k ?k½ ;qod

199 ^dkd%-------------------- dk;fr*A mfpr 'kCn ls fjDr LFkku dh iwfrZ djsaA
d½ o`{ks [k½ ikrkys x½ iqLrds ?k½ izdks"Bs

200 okujk% ir~$'kr`$ izR;; Qykfu i';fUr
d½ irr~ [k½ irUrkfu x½ ifrrkfu ?k½ irfUr


